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1225 25329 0 33,068 -33,068]1. w=a 40 -33,068,000
1) BZ3(AEH]) -33,068,000
2200 HR&so= 10,000 40,380 -30,380
oIBI X2 R Y
2210 STl Xt e 10,000 40,380 -30,380
2211 A2 =2 10,000 40,380 -30,380[1. el =20 =10 -30,380,000
o| = JpoH
1) BE3(AEHH]) -30,380,000
5500 JI=°| XF= 28,280,295 28,082,109 198,186
5510 JI=°| A2 28,280,295 28,082,109 198,186
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(&2 - &&)
HE = _ =>toH -
FZ0AHY (A) 20l At (B) S A FE 2 OH (SR F)
2 &t =2 (A-8B)
5511 JI=2 t= 28,280,295 28,082,109 198,186[1. J|x9o X2 198,186,000
198,186,000
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MIM

Ol



255,517,000

200,000,000
12,960,000
621,000
-23,000,000
190,000
4,340,000
1,000,000
-25,000,000

EIDICIO A

JIEt
o

1) QSR THIAIY (H2H])

6) LED-IT
7T T OTCT AT = A
stal2 o A0l

3) 2

[

I
[

£d

-

[ui)
T

160

=2}0H

(A-B)

7,889,508
445,491
577.077
255517|1

84,079,507
10,979,220
8,723,181
3,621,931

91,969,015
11,424,711
9,300,258
3,877,448

or

00

B

17,000,000
67,406,000

Ael(4242)

=
=

Xl=

b

HI
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—-72,506,000

329,934,000

-100,000,000
27,494,000
-20,000,000
-10,000,000
-50,000,000
739,000
162,281,000
-1,860,000

(¢132HI)

= Abe

=
=

EJEoNE=]
(A2HI)

R&BDA!

1) RS PHIAFY (2 HI)
1) AR RHIAFY (A 2 HI)

3) SHLEIDICINA

23,100,000

o

Xl
uJ

2l

-

D
=

0

=2}0H

(A-B)

810,000

1,686,032

4 (A)

pd

\U

K

737,494

2,015,966

RO

or

D

AJ

o)
20 ®r
ol 7D
@ il
&

or

00

B

21,847,000
207,827,000
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311,425,000

-4,000,000
57,230,000
3,000,000
1,827,000
164,014,000
-500,000
-5,000,000

(4 =2HI)

1) SHEZEIDICIN X

2) B EH

oH

Xl
ol

2zl

=

i)
T

o0

=2}0H

(A-B)

1,164,521

4 (A)

<J

\U

Kt

1,475,946

RO

or

or

00

B

—79,555,000

82,154,000
8,700,000
-100,000,000
10,000,000

1) QS HTHIAIY (H2H])

26
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-7,803,000
-3,000,000
644,000
2,967,000
-500,000
10,000,000
12,137,000
-4,000,000

)

A (4!
Abed(eHl)

=
=

=
=

Xl=
X+

A (=2 3)

EIDICIXI

o
6) LED-IT

3) 2

2,262,000

r
]
ol
<

00
<+

gl

2

-10,000,000

4,600,000

ol

K]

3,000,000

(e13241)

ol

ST A

ol
<J
ioD
010

b

3) LED-IT

=2}0H

(A-B)

2.262[

332,501

4 (A)

<

\U

K

334,763

or

00

B

662,000
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HE = _ =>toH -
ZZ 0l At (A) 206 (B) SR & E 2 A (B9 )
= gt =2 (A-B)
TTITOTOTAT TS S 8 A2 s O S SATS o —11.000.000
srae A0l 000,
4. J|BHAtS S22 HI) -75,586,000
1) HUBAIS (R RS =X &) -75,586,000
5. JIBH=HEHI) 10,000,000
TTTUEAN DM S S Sa=ts M S3ArE T (8 10.000.000
sta e 0inA0l) VS
4140 &HEHEEHI X 850,000 750,000 100,000
SREA
4141 AtstgE e 850,000 750,000 100,000(1, Arataiatg Atz 100,000,000
=)
1) IS0 &AL (OIEE) 100,000,000
4180 ststg =B A 180,000 235,000 -55,000
SREN
4181 DIEtArEHE 180,000 235,000 -55,000(1. 7| &t -5,000,000
|
1) BAIIQ A8 A (2 7] 5,000,000
2. QI -50,000,000
1) 2 H2HIAG (A 2H]) -50,000,000
43,849,646 38,386,716 5,462,930
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Z=2JFOH
=24 L OH | OH oo™ s = =T E=T]
= = SOl (A) =20l AteH (B) (A - B) & =2 2 N (u9:9)
5,546,557
4211 QI 2AHI(X 509,070[1. = 124,773,000
2AA)
1) LED-ITS 8 A 31 DAL (21 HI) 2,250,000
2) HUBAR! (1 72H]) ~5,000,000
3) HHMLXSE S PAAY (S 7HI) -67,000,000
4) HSAEHSE T 20121244 AL (1 72H]) 52,861,000
5) CHB! DI DFAIE] (212 HI) ~14,314,000
6) S Xt IS OHE SWEITLAIE] (2 2HI) 75,662,000
7) B AIS O ALDFSH X A ALY EH(I T HI) 46,900,000
SIEERENERTEICEED 64,520,000
I NES NN TrTs rNME R =0 A A (R 2 44.618.000
HI ’ ’
10) 2121421 2H1) 75,600,000
2. NIRHA 86,600,000
1) DI IFAIE (Z &AL 60,000,000




s _ﬂ} = FZ0AHY (A) 20l & (B) s&e A B 2 N (a9 Q)
2 gt =2 (A -8B) - = ==
2) ZSEHIOIHME (A7) 6,600,000
W@%;Aﬂg—ﬂﬂgdiﬁ—ﬁﬂtﬂﬂ—ﬁ 20.000.000
3. J1 A 116,557,000
1) Q2 HAHIA (A 2HI) 100,000,000
2) DI IHMIE (A E XL -443,000
3) JIItEEH (M2 ER) 17,000,000
4, WHIS —-74,000,000
1) ADLEN01E SS8HPHE (A7) -74,000,000
5. J|E} 252,800,000
1) 22 HFHIAF (H HI) 150,000,000
2) BAI|HASEAAD (H2HI) -5,000,000
3) HEEHL M XX A& A A (S 72HI) 11,500,000
4) AGENIO0IE 8583 PHE(H7H) 74,000,000




AEas =00 (1) | =olee (B) == 8 &8 2 2 (@98
2 3 = (A -B) & 2 = SR
5) & &1 Ol AL DS AFRHA AFRIEH (2 28I 22,300,000
6. &EHUE 2,340,000
21)) HUSTars T OrTEONOT el S ATS TATS Tt s AT 2.340.000
gl‘;i‘fﬁa“' 6.769,808 6,241,105 528,703(1, sra01 21| (KR AE) 528,703,000
1) 220 2l A2} (2 1) 200,000,000
2) Z4JIQ LS B AR (T HI) 50,000,000
3) LED-ITS 8 &2 510 T AR (24 1) 7,200,000
4) BYUUNSE A DL (A 7H]) 67,000,000
5) NISHEHSEE20I2A 24 A (A 7HI) 150,542,000
6) IS Xt IS HE SWR P HIE (& 7)) ~28,729,000
7) LINC+AFRISHZH L AITHS) 2,850,000
8) LINC+AtRIEH(2 D) ~100,000,000
9) LINC+HR Z 8/ 2A) 5,000,000
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i =2roH
2 ) = (A-B) ¢ 8 = =)

10) LINCHAIASHAASE U ) 4,260,000
T S S AN E SN E S =T
SHD 161,670,000
12) 21214 (21 7H]) 8,910,000

4214 AREH -

: 1. I REH, W2l (XIAFY

THEHI (X2 At L HEH (& A

o)
1) Q01| AL (01 1) -150,000,000
2) ZAD|GASHE 2 ALY () -50,000,000
3) LED-ITS &AM St AL (X 2HI) 37,000,000
4) BEUUXNESEADAAN (S 2H]) 25,000,000
5) ISXUHEHSE M2 U A AL (21 2HI) -11,816,000
6) ADIENIOIE S=8IR4MEH(S2H) -84,880,000
7) DI IEIE (B AFAL 6,900,000
8) NSt Jlsotd SWel R AIE (¢ 2H]) 17,418,000
9) ItSXt st SWRHRAEH (W2 XS) 35,715,000




HE = = o il Al o =>toH
= H == = o - o
= - = Z0IAH (A) =0l A (B) (Ao B) a2 2 A (29:9)
10) 31 AIS O ALDFSHXF QA AP EH(S ) 73,285,000
N EE NN M8 = d T OE (X

21 151,389,000
12) 212144 (2 2H1) 395,800,000
13) 21712 (HERS) 188,954,000

4215 AR S| 9,328,595 7,640,562 1,688,033[1. cimar=h) (X2 ANY) 1,688,033,000

(KIZAL) ,

1) Q21 HI AL (21 7HI) -100,000,000
2) BADIY A ALY (S HI) 20,000,000
3) LED-ITS & A 301 ALY (21 2HI) 5,570,000
4) HUBAE (&1 72H]) 555,250,000
5 FHOUHKSEA DA (S17HI) ~25,000,000
6) ISHETHSH TSI S LAY (HTH) 380,000
7) THEH DI DbAIE (01 2H1) 8,450,000
8) DI IHMIE (AL A F ) -900,000
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1to= zH0la (A) | =oler (B) S 4B 3 o (@99
2 E =2 (A-8B) - = = =T E

9) JILIHMIE| (TH RS #) 10,000

10) 2124 JHMIE (KDB) 3,826,000

11) DI IHAIE| (B AFAL 1,087,725,000

12) DB (N RER) 4,700,000

13) HSXH IS otE SWel Ml Ef (21 7l) 62,525,000

14) ISX J1sHd SWHRHE(HSX3) -26,800,000

15) XIAITH &I S & & OH BEALR EH(01 721 ) -920,000

16) LINC+AM EH(E H 2 013HHl01) -10,000,000

17) LINC+AM EH(B A AITHE) -4,850,000

18) LINC+AHH EH(2 1) -125,000,000

19) LNC+AII EHH A=) -31,060,000

20) B AIS 0| AFIFEEXF QA AR EH( S THI) 56,705,000

ZW%@W%...AH@—."JIEJ_%E%JEHE 208.672.000
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HEY DS ] =aron -
- ZZ0fared (A) 20) 4+ (B) B 2 A (B8
2 B = (A-B)
22) D101 & (A 22Hl) 15,650,000
4216 AR DRIZ AR DREZY (KAL)
ZIH| (IR A)
1) LED-ITS & ArA 3 1 DA (212 HI) 2,500,000
2) HUBAH (21 b)) -19,000,000
3) NS XY SEH20I2 %4 AL (21 7HI) 7,740,000
4) Th&t D12 LM ES (2 1) 2,467,000
5) I IHMIEN (A S TR -229,000
6) 71 JHHIES (KDB) -985,000
7) JI4IHAE (Z &AL 11,875,000
8) JILIIME (N2 ER) 2,400,000
9) ISR IS QLA SWEITLHIE (21 2HI) 24,448,000
10) X IISHE SWHPMEH (S RS) -162,000
11) TIATH A DS A & CHBEAFR EH 2 H]) 920.000




HE = E T
- FH0akH (A) 20il 4t (B) R & 52 2 N (e#9:9)
2 5t =2 (A-B)

12) SIAIE O AL DB RFQE A AFRI EH(OI 2 HI) 23,080,000
13) Z=2EI0IE ME (21 2HI) 417,110,000
14) J101&(23) 380,000
15) 21014 (212H1) 13,000,000

4217 AR5Y 2,137,862 2,104,420 33,4421, ot (n A 33,442,000

(R AHE)
1) ZADIYASE B2 A (21 L) ~12,960,000
2) CHYEHLFXIX &3 A A (@1 T2H)) 6,900,000
3) LED-ITS & AHR! 5101 R ALY (21 2H]) 4,475,000
4) NSXAETSSSHS AL LA AN (2 2H]) 26,000,000
5) D1 IFAIE (ZAFAL) 2,000,000
6) LINC+AFZ EHZ AHAITHS) 2,000,000
7) LINC+AFZ EH(2 D) 70,000,000
8) LINC+(2 2 312 Af) 4,000,000




HE LS _ =2toH
A A (A) S0l At (B) sen & B 2N (B 9)
2 &t =2 (A-8B)
9) LINC+AIAEHRAS T HS) 1,800,000
10) S AIS O AFDFS!RFF A AR EH QA 2H] ) 5,400,000
e NS Fe MBS =0 A e (A 59,147,000
22HND
12) J121&l (et H]) 4,680,000
4218 SIErI 20N 2,287,000 620,000 1,667,000[1. Seroi o] (X2 AFR) 1,667,000,000
2y (K12 AF)
1) Q121 H| AR (21 2H]) 410,000,000
2) ADLEI0IE S8 eI ME (21Y]) 30,000,000
3) CHE D1 DHMIEL (42 HI) 0
4) S 0S8 O AbDFEERFQEA A EHE T2H)) 0
5) ZSECI0IE M E (2 74I) 1,227,000,000
4220 X2 A 4,240,422 4,093,694 146,728
N2REH
4221 1 24H[ (X 888,182 641,287 246,895, =21 69,012,000
A=)
1) Q=201 2| AFRY (4 RHI) 19,000,000
2) ZAJIUHRDAI (2 D) -1,400,000
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HEBe ] >t on i
ZAGAH (A) =04l AFOH (B) S & B 2 A (ER:8)
o &t = (A-B)

3) BK21Z 2 A-AATH (1) 39,000,000
4) BK21ZEHA-HESA(AH]) 45,300,000
5) BK21Z2{ A& J| (e 2HI) -30,459,000
6) BK21Z i A-21 ZE (21 2H]) -5,629,000
7) BK21Z2{ A-0k8H2 (01 H|) 2,000,000
8) BK21Z2{ A-318 (01 2HI) 1,200,000
2. XIRHK 167,083,000
1) HuStar& AlOFIHHIDI Ol 2H & XHS XEAFY BH( S 2 HI) 167,083,000
3. JIEH 10,800,000
1) BADGEASBALAIA A (2A) 19,800,000
2) HUBAIY (IR 2K ) -9,000,000

4222 DS DHN 52,304 52,304 0

LH(XE D)

4223 &3t 3 (X 1,642,146 1,822,007 -179,861[1. =21 -179,861,000

AN

39



&
Jo

o
=

P o = gl & &8 = L)
1) BK21Z 2 A-A AT (S 72H]) 3,162,000
2) BK21Z | A-FE S A% 2H|) -29,534,000
3) BK21Z i A-FJ| (%1 2H|) -4,000,000
4) BK21Z2HA-ZAEE(H7H]) —8,400,000
5) HISHEHSE SIS AL AN (S 7HI) -141,000,000
6) BK21 Z2{ A-otste (o)) -1,500,000
7) BK21 B2 A A -B H S (2 HI) -6,123,000
8) BK21Z2{A-3t5tH(&1 H|) 7,534,000
(X|%§§) fo=4
1) BK2IZ M A-AMATH (S ) -44,000,000
2) BK21 2 A-HBE (21 2H]) 18,000,000
3) BK21Z2{ A-FJ|(& 1 H|) 3,026,000
4) BK21Z{ A -2 EE{ (21 2HI) 5,000,000
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HE = _ =>toH -
=0 &ty (A) 20 &t (B) R & E 2 N (%9 :9)
2 & = (A-8)
5) BK21 22 A-FII B & & ) (S 7Hl) 2,477,000
6) BK21 22 A-2t&2(H 72H]) 5,000,000
7) BK21EA A -2 S & H 7 HI) 7,000,000
8) BK21E 24 A-3t8 (S 72HI) 7,800,000
4228 JIEtN =S 2 1,317,943 1,242,552 75,3911, =20 19,622,000
HI(NEWK)
1) SAJILYHRDAI (2 1) 19,622,000
2. 2 0(=HMEHHI) 10,404,000
1) BK21EHA-AATH(SH 7HI) -8,626,000
2) BKR21Z{ A-HESA(H7HI) -33,397,000
3) BK21Z A-&J|(7Hl) 21,459,000
4) BK21 24 A-2 FH (A 2HI) 6,433,000
5) BK21E2AA-FI| S&H(HI & ) (S 7 HI) 3,535,000
6) BK21E2{ A-2k& 2 (A 12Hl) 20,000,000
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5]
Jo
o

H

" - = zF00 (A) [ =oiao @) & & & 2 (298
7) BK21Z2{ A AL -2 & 8H k(91 1)) 5,000,000
8) BK21Z2{A -5t 0H (1 2 H) -4,000,000
3. 2DOIEALE29H]) -169,412,000
1) QS THI A (2 72HI) 50,200,000
2) BK21Z 2 A-AATH (01 72H) -36,185,000
3) BK21Z 2 A-H B S AI(217H|) -15,000,000
4) BK21Z2{ A-FD| (21 2H]) -18,000,000
5) BK21Z 2 A-21 BE (21 72H]) -31,000,000
6) BK21Z A-®I| Z&HHI A ) (21 7 HI) 188,000
7) BK21E2{ A-+&2(A 72H|) -57,368,000
8) BK21Z 2| A A - A& IH (2 HI) -23,247,000
9) BK21Z 24 A-35tat IH(e1 11H]) -39,000,000
4. X RHA| 188,417,000
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(9 - M)
HE = _ =>toH -
ZHO koK (A) 20§ AH0H (B) <= & =5 2 N (e#9:9)
2 &t = (A -B)
1) HuStar® Al0F3HGI 01 01 2 & KHS XEAFRS EH(Q 2 HI) 188,417,000
5. JIE 22,460,000
1) QA HI AR (¢ HI) 9,800,000
:dLJ] HUSTars QT OrJTaul0l cl S AF = KEATS (L= AP 12.660.000
6. JIEHY RETH|) 4,000,000
1) SAJARASBH A A A (2212) 4,000,000
4280 X2 2AtH 2,114,343 2,344,698 -230,355
N2REH
4281 J|EFXIR 2 2,114,343 2,344,698 -230,355(1. X Kr&I(21 24 1) -4,000,000
Abeit]

1) 01210l S A 22| K| 2 A (2 2H)) -4,000,000

2. JI A -27,905,000

1) LINC+H(R 23 AL -27,905,000

3. JIE -181,628,000

1) 2B AL (21 2H]) 6,500,000
2) D=0/ & AF (21 2H]) -163,028,000
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A0 2009 (A) | =oieo (8) sas & ' 2 O (29:9)
2 5t =2 (A -B)
3) JI=0l® AL (mHITHE) -25,000,000
4) LINC+AFL EHZ A AITHS) ~100,000
4. 01214 -45,822,000
1) BB AL (S 2H]) 66,000,000
2) D10l ™AL (21 2HI) -115,522,000
3) JI=0IF A (RBITHS) 3,700,000
5. R, W2l 31,433,000
1) {2101 24 ZH2I XA (1) 31,433,000
6. ¢iRE =Y ~733,000
1) OI2I0I 2 A 22| X A (2 H]) ~733,000
7. AP DBRE DY -1,700,000
1) 12101 24 221X AH (1) -1,700,000
5,175,670 4,981,598 194,072
4510 2HE BI AL HI 2,805,654 2,778,263 27,391
2R




AEas =Z 0l &t (A) 204t (B) i A E 2 ) (69 9)
o ES = (A-8)

i?1|1)<aaul(a+ 2,265,654 2,178,263 87,391[1. A2t 15.765.000

&Y
1) DI =01 & A (AFEHHI) -5,394,000
2) JIEHL BHRH2IH| (AHEHH) 21,159,000
2. 8iyRd3 20,000,000
1) WA 24 (AE]) 20,000,000
3. €230 27,000,000
1) DA 23 (AtE]) 27,000,000
4. J|E} 24,626,000
1) ATHAOI U XIAISE S (01222 Hl) 3,000,000
2) ADIE0I0IE S8 RHE(I22HI) 7,200,000
3) XIISX JISoH™ SWH RMIE (D122 HI) 2,261,000
4) SIAISEOIAL IS RS AL SO 22 H ) 11,665,000
5) ZAEI |22 (01 #22) 500,000
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HE = _ =>toH -
ZAGAH (A) =04l AFOH (B) = & E 2 A (SR 8)
2 &t = (A-B)
2) DIEFL BER 2| | (AFEHY]) 0
3) JIEFA R RS H| (AHSHHI) 6,000,000
14, 244 (AE222lH]) 5,564,000
1) LSS AL (AEHH]) 5,564,000
15. 2=4&H] (Rl 22lHl) 3,000,000
1) 21212 (01 229) 3,000,000
16. JIE} 24,500,000
1) HH B AL (AEHH]) 7,500,000
2) JIELSI DRI S H| (AHEH) 17,000,000
4522 AFRIGHES 612,577 683,855 -71.278]1. J1et -71,278,000
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2) LED-ITSE M S AN (D1 222 H]) -20,081,000
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5) ADIENIOIR S=seipdEHOIRS2H]) -12,700,000
6) J1 € IHMIE (DI 222 H) 2,532,000
7) ISR JISoHE SWH RME (D22 HHI) ~2,265,000
8) 2HINLEAAO|B2AH|) 12,372,000
9) LINCHAI EH A X 21 2) 0
10) LINC+AFRI EH2FRIHI) -56,007,000
11) SLAIS O ALTHSE XA AL EHO| 22 2 H)) 10,274,000
12) ZAIS)|B2HI (01 Z22HI) 7,609,000
13) R2I0ISA 2K AAL (AT 229H]) 0
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2 &t =2 (A-8B)
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)
1) JIE0I &AL (XITHR) 14,000,000
300 2¥E=0= 1,544,868 1,213,665 331,203
oIS ZREH
4310 LBH2r2IHl Xt 1,544,868 1,213,665 331,203
28z
431N JIEt &2l 2 1,473,708 1,142,505 331,203[1. /g 331,203,000
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1) Q21 AL (21 7HI) ~1,003,000
2) J1Z 0| ™AL (1)) 115,490,000
3) JIZ0IFAI(IIER) 190,000,000
4) SEHE|DICIO X =8 A A (221 2) 3,000
5) LED-ITSEMASIA DAY (NSS4 2) 1.000
6) LED-ITSE A St RALS (RHHI 421 B) 2,000
7) EAILHAZAALAIGAIY(22AZ) ~17,556,000
8) HUBAHE (81 72H]) 50,000

51




5]
Jo
o

> 0
1oy
@ J

il
o
Jo

&t D2l
9) BK21Z 2| A-M 3 (1 HI) 3,000
10) EENUXSEAZAAIS (A 728]) 388,000
1) ASUHEESEFHSAS XL A 1,890,000
12) ADIEOIOIE SS&HFME (A7) 15,734,000
13) BK21 2 A-H A AE(A2H]) 10,000
14) BK21EHA-XI| S8 (& ) (A 28l) 1,990,000
15) XSXt I setd SWH R HE (H2HI) 3,288,000
16) XSt Jlsotd SWHHIE (TH 299,000
17) LINC+AH EH(E & 5 S Ot 3tCl 01) 23,399,000
18) LINC+AH EHE AAITHS) 100,000
19) LINC+AHI EH(OIE} 728,000
20) JIEF Br2b2 ] (AFEHY) =5,000,000
21) 24| 22FHI(01222HI) 1,387,000




HE LS _ =2toH
FZ0AHY (A) 20l & (B) ST &5 2 A (29 &)
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B TZREN
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BEELEEE 450,000 200,000 250.0001 ZEXN=o=NK= 250,000,000
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A A (A) S0l At (B) se B 2N (B H)
2 &t =2 (A-8B)
1230 R & NHAE = 2.212,053 2,402,684 —190,631
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1234 2120175 1,944,553 2,208,684 -264,131[1. =1 ~231,000,000

1) HUBAF (21 32HI) 9,000,000
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1) LED-ITSEMYSHRAIS (O] 222H|) -22,000,000
3. JIE 62,031,000
1) SHEHEIDICINRI 28 A (221 2) 14,690,000
2) 012101341221 X 2 A (212 H]) 6,500,000
3 NSHZYSHHLSUAL LAY (+AR) 2,200,000
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2 5t =2 (A-8)
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s
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1) D10l &AL (XITHR) 50,000,000
2200 RESo=2 40,000 40,000 0
OISR RE N
2210 S A2 4t 40,000 40,000 0
2211 AUES 2 40,000 40,000 0
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